EEGERRE RE

= \ oo\ q A =3 Jott = F B ANFE S
RBRAT  SHBES & RIB R IR yoES BREEEARHN ) SEE  BESAE BERSE  SE0E mEs e
_ : REEE(EIRGE 5 ¥ "8
P952 ez F il
m8IBESHE N &=1,000//k B®&5,000/8R ‘BRE1&E/R e 81000
BRI T8 SEEX  _gp=ox —EBE 1R —ERE 1R 178 ==108 1,764 ~ =415
FHE'L‘%,}‘?E%HE%jZR’Eh . S £ X i LA RS L A EH0EE ERS) BN - BRORKRER (BERIABARR)
e 1165 2 =] = o | B . =g/ . = e T g ‘
g apme | HEeStRIchar s@ry  BH2000/K ®&E5000/R BEIH/R - oo $214 y £B81000 $631 856 . BEEY T REIEEE R
it W ReAE kg TEBRESR —ERS1IR —ERS1R ' ’ &&108 ’ - BEREEORESLREMERL B
ELER BRHER URE oo BE2000/R BEG000/R BEIE/R i 103 82000 5000 - o055 et BRaEZ
HEKX -« BFEIESHK « BEKX o i * —ERBES5SK —EBE1IR —ESS1RX ' R=>108 ’
- 855000/ BE2E/R - §8800
woBZems@AETRE I —ERS 1R —GEBS1R 0P X 25108 5,000 3,068 3009 | s OmEsER (EEENFHRE)
ﬁ{%a£14iﬁ5ﬂaﬁ()\Fq&E$) = \ = == \ B = e NN o) T \
o 51,000/ ®&&=5,000/% mE2E/R . - 81000 « BERVITREERER
5 =] (= A ’ o,
BB Y ade A 9&%%)?%(%%) BERAE _ERmi3n —ER=1R —ER=1R 2.88 30% 508 2,000 2=100 5,000 4,825 4,668 . AEEE SRS @SR - B
RESIEBSEHE e  BEL200/R BE5000/R BE2E/R £81000 fEreBRgER
REPR  CR2econ mmem ok trEE 2 R 565 2,000 =108 5,000 5,183 5,111
2188 EXRim8ik s3 X BEIR/R  BEIR/R 475 1008 158 5500 X 2,765 2,987
[iERE<156% AL —FEES2R Fm&2R = = = mR=108 ’ ’
‘%{%zﬁ'fgiﬁji?f 18 - BEORKRER (BERINFAEBAR)
W28 A ST . =
=58 o - = v | mmome | mEom /e ~ - BEEYITREER
= SRRy &i=1,000//R &&S2&8/R Z=28 /R s 20% = 2 8/HB500 . b e e 4 e s .
ERHE3.0 R FRAE sk g VPR Tgpeon —mEpmok —FESm2Rr 00 OB LA = 25108 3,000 4373 4738 . LEREEORRELRIMERE R
AREERXN ~ HEFERKX ~ FIRE LSRR 28
HEXR - BEEESHK « BEKR---55 o . . . . —
2 . 1oz 8o &=2,000//R ®&&3&B/R &=E38/R - = = 281000
B R BAE  ZEpan rmmok —tmmow 1268 2008 28 = 5,000 5,551 5,961
>R EEeR6EA LT ol -700 8200 4238 gl X X 2,536 3150 . amOmmmEm (SESIFEAR)
B 6F A< Bék = o a8 R IR — - e e . 81000 c BERYFIREHLEER
o i " O s = 2,800 1.4 7 11.2 0% 100 2000 = 5,000 4,481 5,439 R s :
SR Sl g LTI EEER = = i = ; = 25100  AEEEEONEELESBE | B
ln\ﬁﬂ I\E;"‘ %% %%6 ’— I 2 A-A-:A:
° HE= 3,200 1.6 8& 12.8% S0 5,000 4,873 5,929 el RRBAE 2
=108
HR— 2,000 15 58 e = EI000 X 3,376 4,127 \ o
oM@ 8 Bkineme@A xS108 - BRORKKRER (BERITEAR)
o] {E R R — . £81000 - BERYFIREHLEER
0TS o p e a Rl yol 2,500 1.258 6.25% 108 0% 100 > 000 o 5,000 4,318 5,230 : \ \
FHREHR & 1 9 M‘ﬁ,g\f;gﬂ;;é = = ’ m=108 - BEREECARESLRIMERL R
ARG - P 2 B 55
HE= 3,000 1.5 755 128 282000 5,000 5,288 6,332 (EE-w i
E&R=108

* #EH22024/5/20 > WWAREDBSELE * AKREH SEMMEE - BRFREFRIR (G : @hangi_inna)


https://www.taishinbank.com.tw/eServiceA/insurance/product/1-5-1-10.jsp
https://www.cathay-ins.com.tw/cathayins/personal/pet/?projectId=Q1VTMDAwMw==&gclid=Cj0KCQjwxYOiBhC9ARIsANiEIfb5xii3ykO8bBHMjutuur66B5Pg1-T1cVR30Uc-6zPTb8ybHKjgTIUaAuMzEALw_wcB
https://www.fubon.com/insurance/b2c/content/prod_pet/index.html
https://einsure.com.tw/product/pet
https://insurenow.pet/products.html
https://ooinnfamily.com

